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1. For the triangular element shown in figure below, obtain the strain-displacement relation

matrix B and determine the strains &,, &, and V-
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Note: q and x have the same units.

q2 = —0.004
q;= 0003 q,=0.002
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5.9. For the configuration shown in Fig. P.5.9, determine the deflection at the point of load
application using a one-element model. If a mesh of several triangular elements is used,
comment on the stress values in the elements close to the tip.
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Kuvan CST-elementtiin kohdistuu pieni rotaatio 08
origon ympdri. Osoita, ettei elementin kimmo-
energia muutu tasta jaykan kappaleen liikkeesta.



